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Bellwork:

factor completely given x-3 is a
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Chapter 5.6: Find Rational Zeros

Rational Root Theorem: If given
a polynomial that has integer
coefficients, then every rational
zero is in the form....

I p p is the factors of the constant term
~( qis the factors of the leading coefficient
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List the possible rational zeros:

f x)=\9+2x2—11x+12
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Find all the real zeros of:

f(x)=x"-8x* +11x+20

"2"-"6'|0’20
o |

31 22,79,35, ¢ 10,220

4 I -9 I\ a0
K —-"'\x 10 l/_
(x*l)(x - +0)

(x* O x - wx - 5)

P _ o _
a |




alg ch 5.6 noted.notebook November 20, 2013

Find all real roots of:
f(x)=10@11x3—42x2+7x+12
PO Lahte R )

( ‘31"5)( 10x* - 5% 46 -.lb)

o 5 - -al
‘il 5 6 20
e -0 x -40 0
(e-Daxs 1) (0o 10x 0
‘ -
- '(-‘::’.;‘!M 'y
ol

X= 20 00

Xz a0 \‘-I}\ ‘b’
o
_ ot At

D

-
-

Volume is 4 what is x?

v =1py
3




alg ch 5.6 noted.notebook

factor: f(x) =x —5x" +7x-35
ot Xx-8) 11(x -5)
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Homework: Chapter 5.6 pg.374
#'s 3-6,13-16,20,22,24-34¢



	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

